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Note : Attempt all five questions. One question from each unit

is compulsory. Question No. 1 to 3 have 7 marks each

and rest of the questions are of 6 marks.

lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u

djuk vfuok;Z gSA iz'u Øekad 1 ls 3 rd izR;sd ds 7 vad

rFkk 'ks"k ds 6 vad gSaA
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UNIT - I / bdkbZ & I

1. (a) Give reason : [4]

(i) Electronic configuration of carbon is

2 2 1 1 0
x y z1s ,2s ,2p ,2p ,2p  instead of

2 2 2 0 0
x y z1s ,2s ,2p ,2p ,2p .

(ii) Electronic configuration of copper and

chromium do not obey AUfBAU principle.

dkj.k crkb, %

(i) dkc Zu dk by sDV ª k W f ud fo U; kl
2 2 2 0 0

x y z1s ,2s ,2p ,2p ,2p  u gk sdj
2 2 1 1 0

x y z1s ,2s ,2p ,2p ,2p  gksrk gSA

(ii) dkWij vkSj Øksfe;e ds bysDVªkWfud foU;kl

vkQckm fu;e dk ikyu ugha djrs gSaA

(b) Write all four quantum numbers for the

following : [3]

(i) Last electron of sodium

(ii) Fifth electron of carbon
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(iii) Third electron of lithium

fuEufyf[kr dh pkjksa DokaVe la[;kvksa ds eku fyf[k, %

(i) lksfM;e ijek.kq dk vafre bysDVªkWu

(ii) dkcZu dk ik¡poka bysDVªkWu

(iii) yhfFk;e dk rhljk bysDVªkWu

OR / vFkok

(a) Write short notes on the following : [3]

(i) Hund's law of maximum multiplicity

(ii) Effective nuclear charge

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(i) gq.M dk vf/kdre cgqyrk dk fu;e

(ii) izHkkoh ukfHkdh; vkos'k

(b) What do you understand by electronegativity ?

How is it determined ? Explain its periodicity. [4]

fo|qr _.kkRedrk ls vki D;k le>rs gSa \ bls fdl

izdkj Kkr djrs gSa \ bldh vkorZrk Li"V dhft,A
[P.T.O.]



SJN-171/10 (  4  )

UNIT - II / bdkbZ & II

2. (a) What is metallic bond ? Discuss free electron

theory for metallic bond. [4]

/kkfRod ca/k D;k gS \ /kkfRod ca/k ds eqDr bysDVªkWu

fl)kUr dk o.kZu dhft,A

(b) Explain Frenkel and Schottky defect giving

example. [3]

ÝsUdsy o LdkWVdh nks"k dks mnkgj.k }kjk le>kb,A

OR / vFkok

(a) What is solvation energy ? Describe the factors

affecting solvation. [3]

foyk;du ÅtkZ fdls dgrs gSa \ foyk;du dks izHkkfor

djus okys dkjdksa dk o.kZu dhft,A

(b) How is dipole moment useful in the identification

of ortho, meta and para derivatives of benzene ?

[2]

f}/kqzo vk?kw.kZ fdl izdkj csathu ds vkWFkksZ esVk vkSj iSjk

O;qRiUu dh igpku djus esa mi;ksxh gS \
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(c) Explain polarising power and polarisability. [2]

/kqzo.k {kerk ,oa /kqzo.krk dks le>kb,A

UNIT - III / bdkbZ & III

3. (a) Why is bond angle in water is smaller than

ammonia ? [2]

veksfu;k dh vis{kk ty esa vkcU/k dks.k dk eku de

D;ksa gksrk gS \

(b) Write limitations of VSEPR theory. [2]

VSEPR fl)kUr dh lhek,¡ fyf[k,A

(c) Draw molecular orbital diagram of any one

heteronuclear diatomic molecule and explain its

bond order and magnetic properties. [3]

fdlh ,d fo"ke ukfHkdh; f}ijek.kqd v.kq dk vkf.od

d{kd vkjs[k cukdj vkcU/k dksfV ,oa pqEcdh; xq.k

dh O;k[;k dhft,A

UNIT - IV / bdkbZ & IV

4. (a) What is fullerene ? Explain its structure. [3]

QqYysjhu D;k gS \ bldh lajpuk le>kb,A

[P.T.O.]
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(b) Describe anomalous behaviour of nitrogen. [3]

ukbVªkstu ds vlaxr O;ogkj dh foospuk dhft,A

OR / vFkok

(a) Explain structure of following interhalogen

compounds with example : [3]

(i) AX
3
 type

(ii) AX
5
 type

fuEufyf[kr varjgSykstu ;kSfxdksa dh lajpuk mnkgj.k

lfgr le>kb, %

(i) AX
3
  izdkj

(ii) AX
5
  izdkj

(b) Describe anomalous behaviour of lithium. [3]

yhfFk;e ds vlaxr O;ogkj dh foospuk dhft,A

UNIT - V / bdkbZ & V

5. (a) Why are noble gases known as zero valent

elements ? [2]
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mRÑ"V xSlksa dks 'kwU; la;ksth rÙo D;ksa dgrs gSa \

(b) Write equation for reaction of XeF
6
 with SbCl

3
.

[1]

XeF
6 
dh SbCl

3 
ls vfHkfØ;k dk lehdj.k nhft,A

(c) Explain uses of ammonium molybdate and

hydrogen sulphide in qualitative analysis. [3]

xq.kkRed fo'ys"k.k esa veksfu;e ekWfyCMsV vkSj gkbMªkstu

lYQkbM dh mi;ksfxrk le>kb,A

OR / vFkok

(a) What are interferring radicals ? Why is it

necessary to remove interferring radical after test

of basic radicals of second group ? [3]

O;frdkjh ewyd D;k gS \ budks {kkjh; ewydksa ds

f}rh; lewg ds ijh{k.k ds i'pkr gVkuk D;ksa t:jh

gS \

(b) Write tests for the following radicals : [3]

(i) -
3NO

[P.T.O.]
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(ii) 4NO

(iii) -F

fuEufyf[kr ewydksa ds ijh{k.k fyf[k, %

(i) -
3NO

(ii) 4NO

(iii) -F

----x----


